FE40 WA ANLITARD AFLEE RIZHONT
1 AFLHEF

FR2THE1A 290 OR) /PR30y

2 ANLITARDEALZES MO HL 5

(FEALEHE K OV EMAE 2T, HEBITE FN CDERA, )

(BEAT: )
{C R 26 I8 B S i R T CREE L)
1 T E A 2,370,000
¥ & 4 MLA R
HIERR L5 2,300,000 THALE
(PR =7 R B 2,330,000
(RS TR 2,350,000
7 v 2,340,000
GEEeriEs 2,350,000
4 26 ZEH 1075 BRI G EHERE (R )
2 T E A 3,050,000
¥ O 4 AL (S
R & 2,800,000 ALE
R AT R 2,920,000
T AT 2 2,950,000
AR LA N R T 3,050,000
(RN 3,000,000
; 4 26 R 147 A RIS R AT ESLRE (B)
T E Ak 2,240,000
¥ & 4 PN R
R HRPBHREE 2,200,000
SRR Y ILE N 2,100,000 WALE
TUT IR K E 2T R




& Jre VR DK AL it

st BB 2Rt (S B X)

! T AR 6,200,000
X & 4 ANFLA%E fit
BT A=T 4R 6,080,000
U= 6,180,000
PRV IRBR BT 5 AR S IR T 6,100,000
77— 6,000,000 HALE
77 hr—E 6,100,000
4 DINKSHHERE ARG ZRE
’ T AR 29,095,000
x & 4 MFL&%E fiti R
KB X T > 7 2 W R A 29,095,000
NSK() 24,750,000 L
B TSl [F3
<6 A B H# 28,545,000
(- Fnalr: 29,095,000
—BDEr 27,775,000
(Rl SrPi FER
; " 4 BB /N A B AR Yk it 5 | B S
T EATAS 1,402,000
X F 4 PN fiti R
i E (E3
HACEERY RO RSk 1,100,000
R H ST SRR ASE SEAER K P ST 991,000 HALE




4 R 264F LGB /INFARIE S FIPCOX Y )l

! T AR 2,770,000
X & 4 ANFLA%E fit
e ——FR 2,590,000
B REHE TEASEAREE U R A s SRR 2,180,000 WALE
OIXESKIEE 2,550,000
LI e = 2,600,000
HBLEEE KISt H<ITSE 2,376,000
(e 2,500,000
. 4 BE /N A N (PRfe)
T AR 1,920,000
E I AFL&4H il R
AR 1,879,000
Hd EHEE 1,885,000
Hi=ASo 1,886,000
WK = 1,855,000 EALE
(B SO TS [F3
MESEia R 1,864,800
" 4 REARAR B BRAR T8 (10 NV OFJED)
’ T EATAS 1,850,000
¥ &F 4 PN il R
7Y — T 1,830,000
(R e 1,800,000 WALE
N2 1,820,000
(FRIELH 1 ] A 1,830,000
=i 53 (e 1,820,000




&

A PR B B &Rt

a T AR 2,450,000
X & 4 ANFLA%E fit
7Y —> T3 2,420,000
& F kAL 2,410,000
(PR A5 3 [l 2,400,000
)R B8 A A [ 2,380,000 EALE
. 4 27 HUEZ 1 BB FEHERFE PLEH 5t (RO B HIX)
T AR 22,030,000
x & 4 NFLA%E fiti R
(PR A5 3 [ 21,860,000
Iy =27 21,800,000
(B H i ] ok 21,550,000 EALE
() A= [ 21,920,000
7 —> T2 21,800,000
& F kAL 21,900,000
) ey 1 21,850,000
b 4 27 BB T 55 2 51l IS HE R B2 25T (D VX))
T EATAS 17,350,000
X F 4 PN fiti R
(PR 1 3 o 17,150,000
(011 b i5 17,000,000 AL
(R 3 A 17,100,000
()% A= o 17,130,000
7Y —> T 17,100,000
= 17,200,000
h) e ek 17,180,000




&

TR B N[ - Ak e RS BESEH Ze5E

v T AR 19,580,000
X & 4 ANFLAHA fit
7U— T 19,300,000
) B S e 19,400,000
N2 19,500,000
(P B H i B ok 19,250,000
& F kAL 19,100,000 LA
(PR A5 3 [l 19,400,000
()] A= [ 19,350,000
o 4 fEHES S HAR KN 77 VRS BB AT
T AR 11,250,000
x & 4 AFL&4H fit R
7Y — T 11,180,000
) B S 1 11,000,000 EALE
NI =27 11,210,000
(B ] ok 11,100,000
& F kA 11,120,000
(PR A5 3 [ 11,200,000
() A= [ 11,150,000
e " 4 Vi /B NN Ak HIME R BRI 2Rt
T EATAS 4,680,000
X F 4 PN fiti R
7Y —r TEMH 4,580,000 VEALE
V) B S 1 [ 4,650,000
HFEEEE= 4,640,000
=i 53 (e 4,620,000
() A= [ 4,630,000




” 4 27 BAEZE 55 35 Tl HOM 2 23T (VR LX)

T AR 3,570,000

X & 4 ANFLA%E fit
) B S e 3,510,000
()] A= [ 3,490,000 AL
7Y —> T3 3,500,000
& F kAL 3,500,000
(PR A5 3 [l 3,520,000
- 4 27 HAEZ 4 B Tl B S 2t (B R H X 44

T AR 2,570,000

x & 4 AFL&4H fiti R
) B S 1 2,520,000
(PR 50 3 [ 2,510,000
() A= [ 2,500,000 EALE
)R B8 A A [ 2,520,000
& F kAL 2,510,000
o 4 JT RS PSS 2Rt

T EATAS 1,610,000

X F 4 PN fiti R
AR 3 [ 1,570,000
V) B S 1 [ 1,600,000
HFEEEE= 1,580,000
(R e 1,550,000 WALE
(A 1,580,000




" 4 T b DN BRI M i P 255
T AR 9,010,000
X & 4 ANFLA%E fit
PN BEET 8,900,000
A7) — B A 8,950,000
N2 8,980,000
(PRI 1 B oA 8,850,000
(PR A5 3 [l 8,800,000 EALE
2 4 TEBE RN - okt (ALH0) AERF A PR 25T
T AR 10,170,000
x & 4 AFL&4H fiti R
AR 3 ] 10,070,000
) oy 1 10,100,000
AR ) — B R A 10,000,000
I =27 10,050,000
(B H ] ok 9,960,000 EALE
(PR 5 3 ] 10,000,000
)R BE A A [ 10,000,000
. 4 TR RN - okt (R0 ) AERF A PR S 25T
T EATAS 10,270,000
X F 4 PN fiti R
AT 3] 10,200,000
) ey 1 [ 10,180,000
(e A ET D7 RN =R S 10,150,000
N2 10,050,000 WALE
(FRIELH 1 [ A 10,200,000
(PR A 1 [ 10,100,000
)R BE AR A [l 10,150,000




& TR B PR B 25 RE

22
T AR 1,610,000
X & 4 ANFLA%E fit
Ak 1,580,000
(P B H i B ok 1,600,000
HIEEES 1,580,000
(PR A5 3 [ 1,570,000
)R B8 A A [ 1,560,000 HALE
4 SHFEV AR EMERE P 2T
v T AR 1,030,000
x & 4 AFL&4H fiti R
PN BT 980,000
(= B P N i 73 960,000 AL
HIEEEES 990,000
)R B8 A A [ 1,000,000
o 4 27 HEZT 55 T SN 3 Z 5 (BB b X 44
T EATAS 2,400,000
X F 4 PN fiti R
) ey 1 [ 2,300,000 EALE
D7) — B R 2,350,000
HFEEEE= 2,330,000
AT 3] 2,350,000
)R BE AR A [l 2,360,000
- 4 27 HUEZ 5565 T RN 35 25t (R JF - H X A%
T E AR 1,870,000
T RE ATk
) T ey 1 1,805,000
AR ) — BV R A 1,790,000
HFEEEES 1,775,000
PN BT 1,750,000 LA
)R B8 AR A A [ 1,810,000




